AT R RE R

FAEZEERTEWHAR
( DL 48 )
T FLEI:IIJ%{I\
2T Y5 ZR A VAN LB T 5 2T 4 3 SR A A (1 R AW, R 4 A A B 1 T
95 TTRARE TS, 2 — P A TR A RE YR .
ARG G TE 92 B NREL 5256 % (1) 7 V458l s ool AG I 41 R &, fERMES
T A 2 £ 2 2 KR AR AR o JE i bE R A I AR AR RE S B, b A 2
FgERTE.
—. RFNEEBAEF :

AR Firs TRAFELR Z e
PREOK | WK S0mLx1 3 | 4°CIRAE
WA — WA mLx1 A°CIRAF | I FIRTHZEEMAN 10mL YRERER, TRAI% .
I PR LR SR 7SN &, I 6mL vk
A WA mgx6 i 4CIRAT | CFRVAR, TR 0.36mL ¥R ELERIRST:

FAA 56 B8 4°CIRAE IR o

o 5 BT AE S B R R E R 2mg B —
EP &, FEIN 2mL 748K Img/mL
IR FEARAE o, T3 28 KRB — 1
0.5mg/mL, .

P HE WA mgx1 4°CIRAF

=\ FTERNEMAM:
A6 T ImL B LA OB lem). K. TR, 80% 2B,
W, KB WRIRER. WREEFR. 21K,

M, $A%EE=E:
BIER LI ATERN 2 MERMTUNE, THRAMMSERIFER, RBIWRTE, BELl
HEAFIRFRER!
1. BEARFE:

O BUEEHASREARMRFIERE, T 40 Hif&H; B 0.02g i 1k RH L (G5 R
AIEY 0.05g, /K78 AEARTEL 0.1g), I 1.5mL FJ 80%Z. 1, WFEESIH, 50°C/K#E
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YR (mg/g HE)=(C FREEXVI)XAAH(A FRiE-A 25 H)+(WxV1+V)x0.9xD
=2.61xAA+(A FRifE-A 75 [1)+WxD

FLF YR BB (%)= {(CARHEXV D) XAA(A FRAE-A 25 ) +=(WxV1+V)x0.9xDx103x100} %
=[0.261xAA+(A t5ifE-A 7= H)+WxD] %
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